Math 140B Midterm 1
(Dated: September 27th 2017)

N O A AN
Name: { ﬂ*«{”&’ g/’;/j!r”‘?ﬁ
SID: JoalyholW,

Write clearly and box all your numerical answers. Simplify all formulas to the very end. Round
appropriately. Think before starting your calculations. Use the back for more space. Show all

steps you are performing.




Useful formulas:

z-score for x from a normal distribution N(u, o) with mean g and standard deviation o

mean

variance o

standard deviation o

1)

(2)

3)

(4)
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1) Indicate with a Q or with a C whether the following are quantitative or categorical variables:

o
a) the length of the neck of giraffe 4
b) the race of a person C

_— ~
¢} whether or not a state’s name consists of one word ..

s

d) the color of an MM candy C

2) In 2007, 5488 people were killed at work due to: transportation (2234}, contact with equipment (916)
assault (839), falls (835), exposure to toxic chemicals (488), fire (151}, others (25). Make a bar graph.
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3) Make a stem-plot of the number of shoes a group of teenagers self-reported: 30, 15, 10, 40, 94, 24,
27, 10, 25, 1, 27. Discuss outliers, center, variability, shape. Find median, the first and third quartiles
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4) Wha if the diameters of a sample of new wedding rings coming off a single manufacturing line came

out with a standard deviation of zero? Assuming the average diameter was correct, is this good or bad

for the manifacturer? Fxplain.
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' 5} Average IQ scores are N(100,15): normally distributed with mean 100 and standard deviation 15.

a) What percent of scores are between 85 and 1157 S

b) What percent of scores are between 70 and 1307 45 7
¢) What percent of scores are between 55 and 1457 948 b

d) How high would your score need to be to fall in the highest 2.5 percent? bA gk How } GC
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e) What are the scores of individuals in the highest 16 percent? i oy ST i 3’:5
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6) In January the average temperature is 36°F, with a standard deviation of 10°F. In July the average
‘is 74°F and the standard deviation is 8°F. Calculate the z-score for 55°F. Is a temperature of 55°F .

more unusual in January or in July?
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7) The distribution of human height is approximately normal for both sexes. For men, the average

is 69.3 inches with a standard deviation of 2.92 inches; for women the average ig 64.1 inches with a

standard deviation of 2.74 inches. Carefully sketch the distributions on the same scale.
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8) Associate these correlation coefficients to the above scatterplots r = —0.93,r = —0.75,r = 0.13,

r=0.63,r=1.0.
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